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12.

13.

14.

(a)

(b)

(a)

(b)

(a)

(b)

If the m.gf of a random variable X is
5
(—1—+Ee’J And Pri(X =2 or 8):
33 ‘
Or

‘ Let the independent random variables

X,,X,,X, have the same pdf f(x) =3x?,
O<x<1l, <zero elsewhere. Find the

.probability that exactly two of these three

variables exceed Y.

- Let X,,X,,X, be a random sample of size 3

from a distribution that is N(6,4).

Determine the probability that the largest
sample observation exceeds 8.

Or

Lot Rehave the pdf f(x):-é, vlinmie

zero elsewhere. Find the p.d.f.of Y =2X +1.

Let X, and X, be independent with normal
distributions N(G 1) and N(7 1), respectively.

- Find Pr(X, > X,).

Or

Let X,,X,,X,,X, be four independent
identically distributed random variables
having the same p.df f(x)=2x, O<x<l1

zero elsewhere. Find the mean and variance
of the sum Y of these four random variables.
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15. (a) Let X, denote the mean of a random sample
of size n from a distribution that is N (;.r, 0'2).

Find the limiting distribution of X, .
Or

®) Let Z be z%n) and let W, =22, Find the
i n*

limiting distribution of W, .
PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b), each
answer should not exceed 600 words.

16. (a) A bowl contains 8 chips. Three of the chips

: are red and 5 are blue. Four chips are to be

drawn successively at random and without
replacement.

(1) Compute the probabﬂlty that the colors
alternate.

(i) Compute the probability that the first
blue chip appears on the third draw.

Or
(b) State and prove Chebyshev's inequality.
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